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AER D FRIRRIGRE
H#H3—2 BEMIIERYTHLBEESNSEHEICET ZEEU/D) _ _ REEE  AAEA
BEFEOEE | EmEs 1455N0691 B % | /B [t e o A
. SMERMO T inIZBHET ST 2ERIA
ﬁﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREOHBERILHDOKRES
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.64 83.78 | =hst | 0oo ~ 000|172 8.70 ZznLst 1.00 | 5.00 ~ 8.00 83.78 | #nLS | 5,00 ~ 800|172 8.70
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 6.19 77.64 | =N | 000 ~ 0.00)] 1.58 7.99 znLst 1.00 | 5.00 ~ 7.80 77.64 | ENRS | 5.00 ~ 7.80 | 1.568 7.99
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 727 92.58 | =hst | ooo ~ 727|186 9.39 znLst 1.00 | 5.00 ~ 9.50 92.58 | =S | 5,00 ~ 9.60 | 1.86 9.39
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 000 ~ 571 71.34 | =LY | 000 ~ 0.00)] 1.65 8.32 znLst 1.00 | 5.00 ~ 6.50 71.34 | EnRS | 5,00 ~ 6.60 | 1.65 8.32
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 6.71 84.78 | =hst | 0oo ~ 671 1.93 9.75 znLst 1.00 | 5.00 ~ 8.70 84.78 | =S | 5,00 ~ 870 1.93 9.75
g 100kN/m#%#BZ25| 1.00 | 000 ~ 055 10812 |3m&EBZB| — ~ — — — | 100kN/mZ#Z5 | 1.00 | 1082 ~ 1252 10812 |3mZi#BZ3 - ~ — — —
ZznLst 1.00 | 0.65 ~ 833 100.00 | =nlsy | 000 ~ 833 2.08 10.50 ZznLst 1.00 |1 6.00 ~ 10.82 100.00 | =N | 6,00 ~ 1252 | 2.08 10.50
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 7.60 97.32 | #hst | 0oo ~ 760|203 10.27 ZznLst 1.00 |1 6.00 ~ 1061 97.32 | #nLS | 5,00 ~ 1061)203 10.27
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 726 92.38 | =hst | 0oo ~ 726\ 1.99 10.07 znLst 1.00 |1 6.00 ~ 10.00 92.38 | =S | 5,00 ~ 1000 1.99 10.07
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
ZhS ~ ZhnLst ~ Zh S ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ S ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnList ~ ZhLS ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBRAD ~ 100kN/m%Z#BZ % ~ 3ImERZ S ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBRAD ~ 100kN/m%Z#BZ % ~ 3ImERZ S ~
zh st ~ Zhns ~ zhList ~ s ~
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